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1 287 4132 tREITh ES/NER
2 280 4128 tREITh EE/NER
2 280 4212 L EI T ES/NER
4 277 ysy Hhot EER/NER
5 275 hs HhHoth EERNER
6 270 0s Hhot EERNER
7 262 1-2 AT K E B /INVER
8 260 109 PN i) EREINER
9 259 4218 AT ES/NER
10 256 T fBFHmh BINER
11 253 AN HET NGNS 5
12 252 TS INVET SEINER
13 250 KK INVETH SENMNER
13 250 =& BHT BINER
15 249 Bx BHT BINER
16 248 YT 7K FFHT FARE /N
17 247 =%405 B LU = EINER
18 243 209 HET HEBE/NMNER
19 240 130958 KEHh ERmE/INER
19 240 bE H = [EHT I B/
21 239 MS HET DR /NS
22 238 KU 2HTh H2Z H/INER
23 236 40113 B LU AR/ INER
23 236 5H &3 b Eaait] BHE/NER
23 236 RES i=Eauit] B /MR
26 235 HE2 i=Eanit] B /MR
27 232 A.S Hhom LB DNFER
27 232 4324 24l ES/MER
29 230 2-19 Hhom £ERINER
29 230 40119 LU Th TN L S
31 229 B fi=Eauit] BINER
31 229 Il ER = IR HT =FE/INFER
33 227 TY K FFHT AR /N AR
33 227 B fi=Cauit] BEINER
35 223 hr Hhom FIRE/INER
35 223 30 ﬁﬁ,ln SMEFINER
35 223 4213 HET RN
35 223 Hh = [EfT It B /INERR
39 222 I-M = JRHT BPNER
40 221 FK PRI IR FET RERDNER
40 221 e HET RET/ DR
42 220 2-22 Hhomt E£EINER
42 220 W. A. %Lt R /NER
42 220 IS HET MR/
42 220 21 RIFTH =EAE/NER
46 219 YT _ME S ait] BEHEVNFER
46 219 EH FH #5:Ih HE e /AR
48 218 4116 % i BT B H /MR
48 218 AY INET INEINERS
50 217 S4119 KEmh TE/NFER
51 216 RK JKEZFHT NENEE
52 215 mr Hhoth EIRE/INER
52 215 4112 T l.‘—;‘/l\"?*s*z
52 215 4131 T ES/NER
52 215 m.h B LT BEsE /D
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52 215 210 HEH HEBE/NER
52 215 HEQ 2Hm IB{E /N
58 214 2-3 L EI T K E B /INVER
58 214 209 PN i) EREINER
58 214 R EE: K&t EREINER
58 214 DH INETH INEINERR
58 214 4103 BHT BRE/INER
58 214 4107 BHT BRE/INER
64 213 K.K K HT N ] /N SR AR
64 213 E.K K FHT BN
64 213 y.r LU BEsE /D
67 212 2-4 Hhoth £FE/NFR
67 212 2-4 Hhoth EEINER
67 212 h.h B LU REs B/
67 212 K. M wFFH B BB /N2
67 212 H-R 5 Th BT H /R
67 212 117 HEH HEmR/INER
67 212 BE10 i=Eadit] Bk /NEAR
67 212 U-H = JRHT BPNER
75 211 110 AT K/
75 211 s.k B LU Fkzs /]
75 211 iR BHT EINER
78 210 2-8 Hhom 2N
78 210 4 7K FFHT FREHNER
78 210 4205 AT ES/hE
78 210 4214 AT ES/hER
78 210 4316 AT ES/hE
78 210 h.r B LT BEsE /N
78 210 H.Y R 8 BB /NVEAR
78 210 YN RFH KE/NER
78 210 IG RFETTH BR=
78 210 U-T #5:Th TR/
78 210 O-Y HEW BRINER
89 209 2-27 Hhoth £E2INER
89 209 M.K 7K EZFHET R/ NERR
91 208 ET Hhom I INERR
91 208 KK K FFHT AR/ NERR
91 208 kt 7K EZFHET E L NER
94 207 sar Hhom FIRE/INER
94 207 TK K FFHT N ] /N AR
94 207 H.A K FFHT INpAlINEE 5
94 207 HE1 fi=Cauit] 1 /MR
98 206 =%401 B LT =FINER
98 206 #E B3 #5:Th TN 5
98 206 207 HET HER/NER
98 206 BE7 2Hm B /MR
98 206 OR = [EfT MNEINERR
103 205 H.R K FHT INpIIRNEE 53
103 205 YM K FHT INpAlIRNEE 5
103 205 118 PN dit] BERENER
103 205 3%H1058 XEh HHEE/NER
103 205 KM RF™H KA /NMFR
103 205 4306 HEH RN
103 205 5 2HTh BEINER
110 204 40108 B LT BES A/ DNER
110 204 KE B5A AT BB/
110 204 Y-T #5:Ih fE TR/
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110 204 4321 HEH th fU/NEAR
114 203 3-22 Hhom £EINER
114 203 D.S 7K FFHT AR /DN
114 203 4209 tREITh EE/NER
114 203 1-7 AR EI T KEF/DNFR
114 203 2-1 AR EI T K E B /INVER
114 203 2-12 AR EI T K E B /NVER
114 203 202 PN i) EREINER
114 203 0% [A414 INETH A4 H/DFER
114 203 SR INETH A BN
114 203 NR INETH h & H/INERR
114 203 T. M. BELlL T /R
114 203 HE6 i=Eanit] B /MR
114 203 = f2Hm BINER
114 203 4216 f2Hm BEEINER
128 202 Y.S 7K FFHT INpAlINEE 5
128 202 TK 7K FFHT INpAlINEE 5
128 202 4307 AT ES/hE
128 202 g EZo wFFH BN
128 202 HS HET NGNS
128 202 4218 f2Hm BLEINER
134 201 Y.H 7K FFHT N ] /N AR
134 201 S.S 7K FFHT INpAlINEE 5
134 201 T.S 7K FFHT INpAlINEE 5
134 201 4229 AT ES/hE
134 201 1-11 AR EI T KEF/DNFR
134 201 2-5 AR ET T KEF/DNFR
134 201 KH NSl AN
134 201 LY INE EE
134 201 m.s B LT BEsE /N
134 201 V.S B LT AN
134 201 40114 B LT AR/ INER
134 201 31 5 Th SMEFINER
134 201 JHA f2Hm A A INERR
134 201 4106 f2Hm REEINER
148 200 S.Y K FFHT R/ NERR
148 200 4313 % i AT EINE A
148 200 4320 % i AT g H /MR
148 200 0.YOSI 5% Bif AT BRIGNEAR
148 200 24025 KEh FEREINER
148 200 2406 5 KEmh EREDNER
148 200 A% @417 INETH 04 B/NER
148 200 it B LT AN
148 200 k.s LU g /0N
148 200 S-S #5:Th fE TR/
148 200 DM HEW WE/NER
148 200 Y-Y HEW BRINER
148 200 REAE 2Hm BINER
148 200 SM 2Hmh HzZH/hFR
148 200 K.D = EHfT MNEINERR
148 200 RM 2Hm NB/NEERS
148 200 4113 2Hm HRE/NMNER
165 199 4118 T EES/hFER
165 199 AS A % AT ET SEINFER
167 198 W.R K FFHT R/ NERR
167 198 h.t B LT Bk Es g /N
167 198 40107 B LT BES A/ DNER
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170 197 SK 7K HT NN
170 197 2-2 AT KEF/DNFR
170 197 24095 REFHh ﬁ%%ﬁll\*é'&
170 197 SA INET BE/NVER
170 197 S-K 51 ﬁllill\—?—‘ R
175 196 K'Y Hhom VN
175 196 S4109 Nt TE/NER
175 196 BE EH f5Th B/
175 196 Y K Ear 000 B EINER
179 195 N.K K FHT AR /DN
179 195 24015 K&t ERRE/NER
179 195 2401258 K& EREINER
179 195 Kou B LU /AR
179 195 EIEEPS b Eaait] BHE/NER
179 195 K-M #5Th TR/
179 195 T-D 5 Th B TR/
179 195 4201 2Hm HREBEINER
187 194 HE i=Eanit] EINER

188 193 S.R K HT FARE /N
188 193 tt K HT bR
188 193 vt K HT bR
188 193 4130 AT ES/hE
188 193 RS INVETH AN BN
188 193 Him X wFFH BHE/NEER
188 193 TR RFIFTIRHF AREB/NERR
195 192 40117 B LU AR/ INER
195 192 A. M R 8 BB /NP AR
195 192 T.Y kI B B /N A
195 192 HY HET MR/
195 192 214 HEH HER/INER
195 192 £A fi=Eauit] BINER

195 192 & =i 5 JEET =FE/INFER
195 192 4205 Gi=Eadit] HRB/INMNER




